10 - Equations of lines in THREE FORMS...continued...
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|0) equations of lines in thRree Torms...continued...
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Example 2: Write the equation of the line in all three forms.
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Example 3: Write the equation of the line, in general form, that has tht{ points (8, -2) and (6, STI &O?{ =
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Example 4: Write the equation of the line, in slope intercept form, that has the puimnd (-6, 4). Yz
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Example 5: Write the equation of the line, in general form, that has the points (-0.9, 0.2) and (-0.1, -0.8).
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157.Challenge #7:

Write the equation of a line in general form given that the line passes through (3,4) and (4,6).
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Given two points:

When given two points we must first find the slope of the line. Then we will follow the same
process as above.

Write the equation of the line that passes through (3,4) and (4.,6).

= i:%i" Find the slope.
m:%:%:;z The slope is 2.
2= g Substitute slope and ONE of the points.
20x—3)=y—4 Cross-multiply. Point-slope form
2x—6=y—4 Expand and simplify.
2x—y—-2=0 Werite in general form.
y=2x-2 And in slope-intercept form if necessary.

Write the equation of the line that passes through the following two points in general form.

158. (3,4) and (4.,6) Explain your reasoning
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159. (-2, -4) and (0, 6) Explain your reasoning

Write the equation of the line that passes through the following two points in general form.

160. (-5, -8) and (-7, -9) 161. (-1, -2) and (3,0) 162. (0,4) and (5, 0)

163. (8, -7) and (-6, -7) 164. (5,1-) and (1-’1) ' 165. (0.3, 0.4) and (0.5, 0.7)
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